Sofa and Corner Right

Kimora Corner Set Assembly Instructions

S
h s
i = SNOOC SO
eI s awm R W W SSSoOO
R eSS
MO ORNE -
\ COSS S ———
So———

HARDWARE
NO.|ITEM| DETAIL QNT
1 |mM20| % X8
2 X Washer M6 X8

3 1Y Aﬁn/key x1

4 | K x1

5| B x3
Legs

6 H a Straight X1
Legs

Should you require any replacement parts please complete our Parts
Request Form at: https://www.norfolkleisurelifestyle.com/contact-us

We recommend reading through the instructions first.
Please check that you have all the parts (see Parts List). before you start.

Step I: Assemble the Legs

A

,muH",f,',,mm
A
L
s
Ml il
il uHﬂ""ﬂmlH
IH "Hﬂ

H
i

THE

NORFOLK
COLLECTION

Do you have a question about your Norfolk Collection
furniture? Scan the QR code to find out more.




Corner section

Kimora Corner Set Assembly Instructions

HARDWARE
NO.|ITEM DETAIL QNT
1 | M20 BC x8

6x20mm
2 x Washer M6 X8
3 Y Allen key X1
4 | x1
Seat
5 B Legs X3
Legs
6 | H & — x1
Straight

o Un-wrap all the components and fittings and place on a clean
surface to protect them from damage, you can use the packaging

for this purpose.

o Check that you have all the parts (Parts List) before you start. TH E
o Should you require any replacement parts please complete our N R F L K
Parts Request Form at: https://www.norfolkleisurelifestyle.com/contact-us

o Please keep the assembly tools (3). You will need these to check and re-tighten C O LI_E CT I O N

the bolts, or if you want to dismantle your furniture to store away.

We recommend reading through the instructions first before you start.

Step 1: Assembly Legs

Do you have a question about your Norfolk Collection
furniture? Scan the QR code to find out more




Sofa and Corner Right

Kimora Corner Set Assembly Instructions

HARDWARE
NO.|ITEM DETAIL QNT
1 | M20 X8

6x20mm
2 X Washer M6 X8
3 Y Allen key x1
4 I x1
) B X2
Legs
ju S
6 H Legs Straight X2

Should you require any replacement parts please complete our Parts
Request Form at: https://www.norfolkleisurelifestyle.com/contact-us

We recommend reading through the instructions first.
Please check that you have all the parts (see Parts List). before you start.

Step 1: Assembly Legs

THE

NORFOLK
COLLECTION

Do you have a question about your Norfolk Collection
furniture? Scan the QR code to find out more.

E




Coffee Table

Kimora Lounge and Corner Set Assembly Instructions

N

HARDWARE

NO.|[ITEM DETAIL QNT

1 [M20 X8
6x20mm

2 X Washer M6 X8

3 Y Allen key x1

4 D x1
Top table

5 B x4
Legs

Should you require any replacement parts please complete our Parts

We recommend reading through the instructions first.
Please check that you have all the parts (see Parts List). before you start.

THE

NORFOLK
COLLECTION

. . : : _ Do you have a question about your Norfolk Collection
Request Form at: https://www.norfolkleisurelifestyle.com/contact-us furniture? Sean the QR code to find out more.




	49500  49501 AI Kimora Corner Set - sofa and corner right 2024.pdf
	49500 49501 AI Kimora Corner Set - corner section 2024.pdf
	Sheets and Views
	Model


	49500 AI Kimora Corner Set - extension 2024.pdf
	Sheets and Views
	Model


	49503 49504 49500 AI Kimora Lounge and Corner Set - Coffee Table  2024[14].pdf

